H 2 ST AT R (examebook.com ) 5 BELiL. AMREE. MERE. FTFRg!

2 F 2011 % 4 H BEHFREMESITHEFRR
RIEARAD: 00041

—. BUNERE KA 20 /NG, B/EE 14, $£204)
A PNEFHAONEERHPRAE—NEFEEEEKRY, BREKBES EAE A
S, k. ZESKIEHITS -
1 NIRRT IR R IE M2 A ) 1-64
AU AR TS v RS 2 (R
B.5% T v W 1 23 RS A i TR)E
C.A T WL B i F AR B AR 45
D R 28 SR 23 T A% S ()Y Rl 24k 43
2R T AR A RIRERE ¢ B ) 2-83
AAET RN BT R oK N
C IR EAEAS 7 DR RBUHE LT
3RHNESS Y, SnlEA G E ke ¢ C ) 1-59
AT HAF AT BTG A R
C AT R0 AT KR DT A TAE S BB ARA T i K
4. VLSRR R AR A8 Sy AR AT S vl vk i, RIS THE Bl 2k g (B )
1-65
AAKNEB. AT HEPE
C.H D, S
5HFEUT AR 50000 TCAEANRAT, Aot EEER R Z C A ) 1-59
ABE 5 UG RIS 0 50000 TG
B. %% ™ 5 T A B [F] N9 0 50000 TG
C. A foi 5 P A7 &AL & [R5 38 i 50000 76
D.—JUBE ™ 84 i1 50000 7, I B> 50000 JT
6MGTILIRIE T, AR T FIdmE ¢ C ) 2-83
A P BB A A
C. A 11 45 D. A 119k /b %51
7 RS KA UE T 45 A B P B 0 M A IR IR & ¢ D ) 7-199
AJRIASEUE BACIKAEUE
C.RFHIC B E DI e K Bk

AR R 2 iR B R (down.examebook.com) AR RLPH — VRHIAE !

ﬁ%?ﬂ%E‘

=

O o ™ LR

o
(@

/

S Y R

— T T



http://ikaoti.cn/shop/

H 2 ST AT R (examebook.com ) 5 BELiL. AMREE. MERE. FTFRg!

8. AR, T IAS ORIK TR C A ) 3-106

A AR B 4 i

C.oFEEN SN DItk 55N

9. % HEMEH /3, “MEERWE K JET ¢ D ) 3-109
AJHEIK T BEAIK

CHBUS K DA K

100K BT SS Ab BRE e — & - ¢ A ) 7199

AN G5 LR SEUEAS 2 1 B

BHIBIR. &g 2 dIKEIER 2 16 Ay

(O S/1% - O NN 28 N2 = P AN Tl SR T S E A X 1A

DR Sk g5 % LKA 2 1 B

1L 2t N Rl R E ¢ B ) 5-155
AR B L K AT IE

C.RITED. ah A IR R

12 T A E G A EDE B kg T ¢ ¢ ) 6-167
AJPIIKEE BRIk

CAMIKE  D.HIdIKE

13.— & N Z il st AR AR AR A Dol 45 R 7B IE 2 (B ) 5-148
ASEJIFEIE B EHEIE

Cac k4wl FEUE DR JRUG FE ik

14 M IR S AR B R I a5 A B i k2 ¢ D ) 8-211
ASEHU B AT B AL DT R AR

CHUAT I DK S8 A7

15, — 2B TNV 55 5 B4 B 5KACIK B IE, 35 SEUEM Y 30 5, WNCIKSEIESE 5 70 4

¢D
5-157
A.30, 31B.30, 30
1

2
C.30-1, 30-2 D302, 302

16K 7 I TN 7 FRIK 4 A8 ARG IR ARy ¢ A ) 6-166
A S BAFRNH K
CA%H HAd kDR HIE AR

AR R 2 iR B R (down.examebook.com) AR RLPH — VRHIAE !

)

LM o o L BESE ok ER ORI

S Y R

S FH



http://ikaoti.cn/shop/

H 2 ST AT R (examebook.com ) 5 BELiL. AMREE. MERE. FTFRg!

17 ANV 2SR AE Al BB 50000 TG T80 10000 TG i 4 st BeBURIZCE S bt
5000 Jo, JCHARBITE, WIRNEZR LR oEBIE KIS ¢ A ) 9-228
A.5000 JG  B.10000 JG
C.50000 7t D.65000 JG
18 4 AR UE YR 7328, “HlE R B T ¢ ¢ ) 5-147
A—USEUE BAdK g HlEiE
C. HBIRIREUE  DANKIFA L
19. 24557, 10 AW EATAEZ NI FEWN A 500 76, %Mk A NIk 2 ¢ ¢ D
3-98
ASHUTAER B 45 9 1)
C.“ SRR D AR R
20. 2L HE R E B P Bk, NARICHIKR S ¢ C ) 8-216
A B B B9
CUENVANSEH” DR FRIA 155
Z. ZUUAERE KRR 10 /M3E, B33 245, #£204)
E#ENEHMN AN SRR ZECERINEHEEBEERY, BRERKBES AR
EEAN. k. Sik. DiESKREHES .
21 R AT, @ e % 7 24 ( ABCDE ) 1-68
AR BAH
C.HnIl 53 DIHBIRIH %21 EiE
E.BCE 2 THREE Ak
22 AT, R T AGEARERA (. ABD D) 1-54
A ANV AL 55 B. ik 25 (1928 2 s IR 1%
C. A2 AP A B I D. U 25 3 B PF R 28 i Al
E.RERS 45 by RASK £ 55 Bl 2
23 AT, gl AEPIL RN A AR SA ¢ BDE ) 1-59
AR BIGHER ELRATEK
C.ARATFE N4 D RAT R AE NRAT
E HIRAT AR £2IE T R EDREK
24 N AN, JE TR P AT ( ABCDE ) 3-107
ACIRIKHE S B BT IH”
C.“FiH 4B D« BTy~

AR R 2 iR B R (down.examebook.com) AR RLPH — VRHIAE !

LM o o L BESE ok ER ORI

S Y R

— T T



http://ikaoti.cn/shop/

H 2 ST AT R (examebook.com ) 5 BELiL. AMREE. MERE. FTFRg!

E.“PORLAS 22 572

25 Gkl SRR 2 A, MR 2N 5 (ABDE
A O SEIAE AW BRI N

B R AR A G R SCAS R I 2 H

C. C& UK NI CL A3k 1 2

D. CAMGHARA & T A Bl 43 J& T A S e N
E.CAATHAEA & T A 43 J8 T A1 98

26 FAKIUR, BT tHE SRR ¢ D ) 1-67
AT RATEB. A S I

C AL DT R AL D MUAS S

E. & AL

27 N AT HAT AR H A KR IR IEAA )4 ¢ ABCD ) 6-171
ABEH T 45 AR

B.NER T AU

CIRTTAT LUK = R 2 X

DA% T L IARAT I A0 T b 23 3ol B H ek

EAC AR by A K SEAIE O SEE R Ik B I

28. MAI T, I ENERE A ABE ) 9-227
AN BASELS

C. 9B % F DB AN

SRATRS A EEES

29. 57 N BT (. ABDE ) 10-239

AFHAT WS BT RVIE

CARMEM 4 N5 D.IpBE A £ v S

E AU A AT Ip RS vh  25 I AR T ik

30. FAISTEE b, & TiRsh % A ( BDE ) 1-53
ATIEH ™ BARATAER

C.[HE %/ DA

E. At S GK

=, ZIABREE (KK 5 /@, §/hFE25, E10459)

31818 1-53
i

(=

AR R 2 iR B R (down.examebook.com) AR RLPH — VRHIAE !

LM o o L BESE ok ER ORI

S Y R

— T T



http://ikaoti.cn/shop/

H 2 ST AT R (examebook.com ) 5 BELiL. AMREE. MERE. FTFRg!

DV RN B IRR LR, JEX S T G % L2 BrReaE I i HAk 725
320 554l 9-218
%
WA G540 5 o 4 Al X AL 18 e bl Al e 5 I SUTPR I 45 AR — 2 T JU ) PR 227
R ISR ESESTHE RISt
3345 HERNbIE AR 10-240
%
SR IE A FR AR 2 VRO ) rh OB (0 RIS VIRV ARFIE IR RS TR DG R 11
HRONAT R HEN RIS o B Aifve, 3o BOVE R NGtk TAER N AR B ATUR e 2 Y.
M H A R TE L
34. 451 EAR 8 5-162
%
SRR MR 2 Fr 2 VH AR TIE NI S I S . 2 RS R R I RE o, 76 5T A G
P T IR 57022 T P A 38 R P AL 328 B (1] o
35450 HAdKk 6-166
%
Rl H k2 % 1T R SRl 45 K AR DL H A K o
M. R RRRELE 2 /8@, /545, #£1045)
3641 A ALK YA SR RT3 R LK 23-102
%
GBI 2 FH R S WO S Al 5 JLAB A AN N2 TR AR AL, 32 25 45 B B i) Ik
A (D) BRI
(2) iR 455K
(3) B4 i

37 A2 S M SEAZ R VIR S AZ 0 (R0 48 FLAAR N 25227194

%

W SIAZ R I e 5 T = % ADTANADT 4% S8 DU 1) K T SR 400 5 S A BIAUIEA TR o o R 25
FiL4E

(1) B4 HC IR I T AR 4005 A IR 4 S B AU 75 AR 7 5

(2) BUTAERR H A IR T AR A0 HRAT R S R R AT 75 55 AR A

(3) 0 7= 40 W AR 43 2 T I T A% 200 5 A 7= 8 S A AU A A 1+

(4) NI, AT B0 43 K T AR A5 D45 TR IR T 1 SR AR 7

AR R 2 iR B R (down.examebook.com) AR RLPH — VRHIAE !

LM o o L BESE ok ER ORI

S Y R

— T T



http://ikaoti.cn/shop/

ZR 2 A (examebook.com ) i &

BFEiL. AMAEE.

MRS R

F. WEHEH RAIL 3 /R, 38V 20 4y, 39 /\EH 10 4, 40/\EE 104, 3£ 40 4))
38Kk PR A TR R A RS

(DA TR AR R R PR

REMEUETL SR L
FH e 2 AUk ) R ATk &l
Az A7 100 000 50 000 150 000
SUH B 7= 40 000 60 000 100 000
] — e 35 000 35 000
AT BUE B T 1REH] 5 000 5 000
&t 140 000 150 000 290 000

()A H RATHR T3 I SACA 134000 7, JLr: A P= 2R TS 80000 JG, B /=4y~
T 20000 TG, ZENEFELN BET 14000 J6, A7EUGEEE T 20000 JG. 4-127

(3)AH [ E %4 IH 15000 76, Horpr: £ 77 4200] 11000 JG, 7 BUE BEER ] 4000 TG0 4-126
(4 HIARAT A2 3CSAS A = 22 1) K FL 9 9200 76 4126

GYHILE AT =R I 3% 800 JG. 4-126
(6) HR, &h¥E5 17 A 415000 JC. 4-134

LR
(DR L3k 55 G il 2 U 50 SR (AN RS (e B AT A0 H 5
K:

() A AP lA—A 77l 150000
—B 100000

Hillid 7% 35000
BRI 5000

B MR 140000
—4HEE 150000
(2) A A A—A =0 80000
—B 74 20000

Hillik 2% 14000
B 20000
Be: NATHR T3 134000

(2) f: &2 H 11000
EH2R H 4000

AR R 2 iR B R (down.examebook.com) AR RLPH — VRHIAE !

‘u\iﬁ'ﬁadﬁ*E‘

=

O o ™ LR

o
(@

/

S Y R

JE T



http://ikaoti.cn/shop/

H 2 ST AT R (examebook.com ) 5 BELiL. AMREE. MERE. FTFRg!

¥ SHTIH 15000
(3) fif: & 9% 9200

B HATARK 9200
(4) fif: i 9% 1 800

B PEAE N4 800
(5) A PEAF™ il 415000

BF: A7 A 415000

(2)A H ik 2 H BVATA 70000 JG, 4257 A P20 T TS O 1500 /0, 4277 B P2 bl TN HY

4 1000 /NI, 424 N CE I g oy RO 9%, O g e 9% F 45 9 2% . 4-130
%
(1) 73 2% 020l %E=70000+ (1500+1000) =2. 8 TG/ /M
(2) A= AN 5 AH R 37 =2, 8 X 1500=4200 (JG)
(3) B 77 5B A H K 9% =2, 8 X 1000=2800 (JL)
fif: AEPA—A 4200
—B 2800
Y. iG] 7000

39. 58Kk XEEATE 20X X9 S B R R BB AR BTR - Bs i h R 2-95

‘u\iﬁ'ﬁaﬁiE‘

=

O o ™ LR

o
(@

/

S Y R

— T T

A R R R AR AUA S AL TG
R AR AR R WA
[ JRE S
575 LY 575 LV 575 LV
PEAF I 2 000 20 000 () 20 000
WATHE K ¢ ) 1 500 000 230 000 1 470 000
JEURH R 10 000 12 000 | —— C )
T K 92 000 204 000 504 000 ()
SR A () | — 1 000 000 1 120 000
itk ¢ ) C ) 1 736 000 () «C ) ¢ )
BOR: R EARTORL, A RIS N, el
%
Sl R R SR RSP AL TG
R AR A AR R WA

AR R 2 iR B R (down.examebook.com) AR RLPH — VRHIAE !



http://ikaoti.cn/shop/

H 2 ST AT R (examebook.com ) 5 BELiL. AMREE. MERE. FTFRg!

I IRE S
7 L] 7 L] 7 L]

A4 2 000 20 000 (2000 ) 20 000
AT | (200000 1 500 000 230 000 1 470 000

)
JE AL 10 000 12 000 | —— ( 22000 )
R 92 000 204 000 504 000 (1392000 )
ST A ( 120000 )| —— 1 000 000 1 120 000

&t (212000 (212000 )] 1 736 000 [( 1736000 )| ( 1512000 ) |(1512000 )
)

40.%0kF: (D)XFEA ] 20X X412 H 31 HE = ffik (&) -
Brrflai (@ER)

Gt AL MEBEAT] 20X X4E12 H31 H AT T
P WK% U IT A AL RS
A 105 000 R K 210 000
A2 o T A ilge e 30 000 A T K 85 000
IR 30 000 T K 20 000
T K 25000 A R T35 T 65 000
LRIANE & 10 000 IR 30 000
[ 300 000 LA 600 000
Ji] 7 ¢ 700 000 HARNR 50 000
Ry BT 140 000
St 1 200 000 St 1 200 000

()% w) DO i W A K P AR R B AEAR T 5 < PO e W 4/ J91R R
TEGETT s “ORIKRHER K IR BY T R A4 1000 JT.
()& Al BT IHY BV 2R IK P O35 AR AA 180000 TG, [ 7 8 7™ Pl AELVE £ s 43 8K P %
JTARHEN 20000 TG
(4% FAFAIA 3 BCANE 10000 76, ASAFESLILEAE 200000 T6.
PR RS BIRBERL,

(1) DK R 2RI T IR Rt 9-223

AR R 2 iR B R (down.examebook.com) AR RLPH — VRHIAE !

| QFER QR I

=

LA

LB % N

S Y R

T



http://ikaoti.cn/shop/

H 2 ST AT R (examebook.com ) 5 BELiL. AMREE. MERE. FTFRg!

()il 72 B = S I IR R 9-224

Q)AL AN B A 9-225

AUz e o H A et 9-222

GV AE R G H G4, 9-225
%

C1DO S 0 e 33 R 4 200 = 1 WC K AR 7 + TR0 IK 31 5 - I8 K A 2% 3 OR & A
=30000+20000-1000=49000

C2) [ & B ™ WK & =8 e 5" - B i I8 - [ E B R ME &
=700000-180000-20000=500000

(3 43 Be A 3 % 20 = 91 40 A 23 T A + A 390 6 R - Ao A B - K 4 TR
=10000+200000-50000-140000=20000

(4) JBN T =G UE G R=07 T 08 S+ 48 Sy Pk S Rl 7=+ NSO 3+ T4 T 3+ LAt S SC+ £ B
=105000+30000+30000+25000+10000+300000=500000

(5) A AN M HE G &=l AR+ 0B+ K0 EFHE
=600000+50000+140000=790000

FERREM: http://www.examebook.cn/
— ATV AR 155 5 SRR . B R A AR !

FERETHAEM . http://down.examebook.com/
—— AT LV AR L 155 Py B e B R AR A5 AR !

FLARE ) R YR http://www.examebook.com/
—— A B Fh 53R 27 S AR A B A (R (1) ) SR !

AR R 2 B AR M (down.examebook.com) FHAEHEFE — VR AHIE !

S g o o L BSE ok ER oI

S Y R

S FH



http://ikaoti.cn/shop/

